Correction of the third exam :TCST

A/ true or false:

1-false
2-false
3-false
4-true

B/full answers:

1-People of the past discovered the immense capacities of their intelligence.

2-Ordinary people show their limits in their situation at work , their health

[food, living

3-Yes,they do

C/ Refering words:

Their: human beings

Them: difficulties of existence
Which :intellectual ability
They :developed countries
B/Text exploration:
1/Synonyms:
a-suppress=eliminate

b-difficult=complex

c-creativity=genius

d-benefit=advantage

2/Opposites:

Developing countries# developed countries
minimum# maximum

inaccessible# accessible

easy# complex, difficult

3/words order:

Scientists invent things for the good of people.

4/Asking question on the underlined word :

What do inventions improve ?

5/Grammar :

B1-African nations are full of natural resources however they are still not

developed

B2-Though football is a popular sport ,it sometimes produces violent situations

in the situations in the stadium.

B3-He has to make efforts because the experiment is difficult

B4- pupils don’t prepare their exams carefully so they fail in their exams.

6/Final “s”

/S/ /Z/

/\z/

takes boils

Changes
produces
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